


8% Code A
TR B FFITHRHR SHERECERE

*3_5

2T~

LE gi.j Flow Adj. Screw Pressure Adj. Screw Characteristics Curves Hydraulic Circuit
i —~H

Be m LD

o8 ool 1| | P T

= >

Q) ) M H— 1 T

3 NP ——

o < o o -

T 2 — =

o

<_| BEDEEEHBY Pressure Compensating Type (Manual)
8 . SHRNEEE SRS EBRE * When the pressure reaches the set value with the

AREA

Description

compensator, the flow reduces to the minimum
automatically while the pump maintains the

AHRIAEEEBDEIRIRE -

1_%;%’2"@5'9573 ° set pressure.
- REBNIRFEHEE - « The pressure and flow are controlled manually.

X858 Code B

N EimER5183, TR JHERECER
7 Rerrtlot? pr;etssure Characteristics Curves Hydraulic Circuit
control po
& [EJLRERER \/,l Outlet It
Flow Adj. Screw L L

< i ] [

g 3_ T Remote | | ‘
O gz) @@@ _: T control | -|X-
g 5 ° o - Q L
—. s " P —> Set pressure
q
2 % EiEEss ER Remote Pressure Control Type _
(@) , . BRSO SRR RSB R TE NS . © 1he pressure can be controlled by_usmg
o] E e NS ERENRER S o the remote relief valve or the multisage
- V)| Description ‘:2 - m,':: S _ pressure control valve.
o BE ’ %Eﬁ,ﬁ@j}mgﬁjﬂnﬂ&}e&ﬂﬁﬁﬂ'g@ﬂ * The discharge pressure can be adjusted
= o Bl e by using the remote relief valve.
@ !

g.
= B BH

O N E=—10,

o [ ERERSIE3 15 ERR HEEECER
i1 J T SR, Remote pressure Characteristics Curves Hydraulic Circuit
== B RN control port
it Adh Serew J@ vy O mn
Y [T 1
% ° H Remote L5 |
o
S
@
=

negEmm (o o ! 1| control 7|
Flow Adj. Screw @ — ‘ T wm
Q L_o” [ ]
| © 9 }
P —> Set Pressure s dipr
A 1 e |« S Remote Pressure Control & Manual Pressure
RIGEES | SRS B IRER Type
- - BENBEROEZBIMETEDE - . The pressure can be controlled by using the
sREB BB IRESER - remote relief valve or the multisage pressure

Description - ZEBARBNSZZINMEZEIMAOEDE  control valve.

4 B HEE T RN ENRER » The pump combines remote relief valve and
- pressure compensator which can adjust set

pressure manually.




o
©
—
(@)
>
o
©
()

X858 Code D

9* B iR ﬂg

ﬂ (SOL"OFF"E¥) L

— Pressure Adj. Screw OO H

= (SOL"OFF")

L

fad MERE IR m

g Flow Adj. Screw oL

o so\ll

< S b

) oo

2 | ]
EEEHSHE

AREA

- BERE L ZRAVEESEIREIRL -
O{HEEREIEAI DM U IR AR EE 7D

Description ~ BYJRERSIVEM -
< SEARAREBSEEERRAER - B
ECLEINRETT R D BEIRRVRE -
X5 Code E
glj [EE 7058 E W - _'D 5 !_ BR7J5% EE#
= (SOL"OFF"H) & SOL"ON"
=] Pressure Adj. Screw @0 Pressure Adj.
m (SOL"OFF") = I = Screw
=) TEER IR T (SOL'ON)
g Flow Adj. Screw R
Q 1
- | %
- oo H —
<

B mER B IITHIEL
BRI C ZRIER TS RRRAYRD -

a2 EH TR AENES - SENHIEE
Description  7J89Z#IfZL -
- BIEMERBENDREE - FEKNE
SHRENE R EEE B R -
{X5% Code H L
A SEIREEE 3, SERESL
gg Remote pressure Load Control Port
E control port g
m  EOREEH \@
X Pressure Adj. Screw
] 1 g i)
B TR TR °° P
< Flow Adj. Screw N |
o | © ©
=
B ETHIE
- ERNinE@ansirtlRE - FIFE
#2H8 HREILERNEE - EEtEHRE
Description E’Jﬂﬂi@f“ - REFTERRERVEL o

EE—EERERIEHS - e E
BAENSRERENET -

SHERECER
Hydraulic Circuit

FFIEHRIR

Characteristics Curves

Oth.Iet IO
l_____|
|
% )|
I_T___l_l
s dor.

Solenoid Cut-off Control Type
» The pump can be switched to unloading type and
pressure control type by using the solenoid valve.
« If the system has longer standby tiime, using this
type of pump can minimize the consumption of
energy.

HEASCER

Hydraulic Circuit

FITEHHR

Characteristics Curves

Ou}let nifws] M|
1 1
| |
|
| 8 |
RN B
S LL Dr

Solenoid Two Pressure Control Type
* The pump can be switched to high pressure type
and low pressure type by using the solenoid valve.
» This type of control is suitable for an application
where the output power of the actuator has to be
controlled in two different load pressures.

SHERECER
Hydraulic Circuit

FFIEHRIR

Characteristics Curves
Outlet IFHO

P —> Set Pressure

Load Sensing Control Type

This regulator, in addition to the pressure
adjustment, allows the pump flow rate control,
according to the Ap pressure drop measured on
either side of a throttle valve installed on the

user line.

The connection pipe between the L port and

the flow line downstream the valve must always be
made. Set pressure can be adjusted manually.

suondQ |043u0)




suonidQ |o43u09)

=
=
%)
HE
O
=
=
5

<
£o)

®

X358 Code C - A
5 PH SR ERH
1 PH Pressure f =0,
QH ATBIEIRH  Adj.Screw : {Egn“"‘mﬁﬁ
= - ressure
m g:r:"lvow Adj. i i d Adj.Screw
X <
@ - —+
S e P i 3__
Q
- D | — — |
S QUIERREEH | |oo :U—'
(9] :
= QJ Flow Adj.Screw
AT\ B A i B

c REEEBNFHR/XRE - SEBIRR
i ERVMEBMAIZHITIEE o

G - BERMENETIES - 88 PLVEND

Description s e—iai 1ot - macam® s oL B
INRE - RIEEBDTER PL BOEUT
i - EEERALAHRE -

{X5% Code C - B

g\b Rﬁﬁ:ﬂ%l% PL BRI
emote pressure

control port :Iajf’srce;:wure

QH ARBEEEH i o

[Tl QH Flow Adj.Screw, < VEH

= nalll: 2o

Q o ° 7

=) —10 1

2 ) —

< QL/VEEERRERH QS/@ —

g QL Flow Adj.Screw J

P EE M7t i R Bl ER TD SN 4 B

- ERMENEEES - B8 PL EIERE
B LE - REEEEER QL BRIV
8 RRENTEE PL BNOEUTE - B
MBERAAE -

- BEf PH WEDREEZNEERS|E
IRV EE TR

C-BH

2 B IR

s

Description

{X5% Code

ﬂ Max. Pressure e

= Adj.Screw Remote pressure

= control port

m QH KRE T IR °

X QHFlowAdjScrew/ _  —— i

® - S
3 — b PL {EER /I3 E iR
) oo\l PL Pressure
- D — Adj.Screw
< auoEREESH| o H

g QL Flow Adj.Screw

BRI B VMR B SRR RS

- MEWRRIZHIIIEE - SRIRETIEE PL
HEBIREELULF - REEEER
QL fERYVRLE °

- SEH PH WERERZNEERSE
RHEDFES - EEHREIARNE
T ERIRE -

BREA

Description

SHERECER
Hydraulic Circuit

FFIEHRIR

Characteristics Curves

Outlet IEHO
1

2 - Pressure 2 - Flow Control Type

» When the pressure increases to exceed the set
pressure (PL), the pump flow rate automatically
changes to low flow rate (QL). On the contrary,
when the pressure decreases to lower the set
pressure (PL), the pump flow rate automatically
changes to high flow rate (QH).

HERECER

Hydraulic Circuit

FFIEHRIR

Characteristics Curves

v. Outlet It

Remote
control

P —

2 - Pressure 2 - Flow Remote Control PH
Pressure Type

» The pump can be obtained high flow rate when
pump is in the low pressure stage. On the contrary,
the pump can also be obtained low flow rate when
pump is in the high pressure stage.

» The high pressure (PH) can be controlled by using
the remote relief valve.

HEASCER

Hydraulic Circuit

FFITEHHR

Characteristics Curves

v, Outlet It

T 171
=S
Remot E.
e ] B
N
P — Set pressure I—T_i S. 3]-'JDr.

2 - Pressure 2 - Flow Remote Control
PH Pressure & Manual Pressure Type
 This type is a two pressure-two flow control.
The high pressure (PH) can be controlled by
using a remote relief valve.

» The pump combines remote relief valve and
pressure compensator which can adjust set
pressure manually.



X8R Code C - D

FFIEHRIR HERECER

PH SE7)E8E IR =rn 7 : -
BRI RE IR
U (SOL'ON") Characteristics Curves Hydraulic Circuit
— PH Pressure Adj.Screw “|oga _
= PL {EE I E IR y, Outlet 0
T oH ARERESH P :'aszfzf:;re i
@ QH Flow Adj.Screw\ ———0d———— <> ’ | vé |
3 T LS
L ool||! | W A |
> O = o o B
= QL /)RR oo Q LR 200
s QL Flow Adj.Screw P — Set pressure Lo '?J
S.l wpr
I B 7 P EE i AR IR EE 5 Y
- MEMARIIREITIEE - BHEIEE PL 2 - Pressure 2 - Flow Solenoid Cut-off
. MEREEL LK - REasmes  Control PH Two Pressure Type
Eﬁﬂﬂ QL BENHRE o * This type is a two-pressure two-flow control.
Description |~ = o b s + The high pressure (PH) can be obtained
- RE PH Eﬂmﬂﬂﬁ,ﬁtgéﬂ‘gi‘z_ﬁﬁ by switching solenoid valve to pressure
ERERE - REBBEBHHNESSES one (P1) and pressure two (P2).
HYBYTVER -
{X58& Code C -FE
P P1 EEDREAR A e FSIERRER JHERECER
(SOL"OFF") \ f ' Characteristics Curves Hydraulic Circuit
ﬁg Pressure Adj. Screw Pressure Adj. Screw y
=] utle
T PL BRI O e
o £<I'I QH KB E IR PL Pressure
S E-'D" QH Flow Adj.Screw ,____i::,_ Adj.Screw
8: ] So\ [t | 5 S
S5 = : soL (@]
. < QL /) REERTEIE A "ON" =
@ i =~
< s QL Flow Adj.Screw =
S o
g&%ﬂ%ﬁj@§%§ﬂzg§h§£§f{% o 2 - Pressure 2 - Flow Solenoid Control o)
* MEMAAY HE « SRIREETIHBS [
’ PH Two Pressure Type
= snes , 3 #5845 0
Eﬁﬂﬂ zi\;g’u:ﬁ RASHARS QL B  This type is a two pressure-two flow control. -g-
Description . = PH B2 EEE 2 BT B * The hlgh pressure (I?H) can be obtained (@)
e - R EMERAERIET - P1 B P2 by switching solenoid valve to pressure a
BONEEIR o one (P1) and pressure two (P2).

{X5% Code C L - H

. ; FITHRHR JHERECER
) P BEREIRH P2 BIREEH R IR, RSO S
7Y (SOL"OFF") (SOL'ON') _ Characteristics Curves Hydraulic Circuit
E Pressure Adj.Screw F‘ Pressure Adj.Screw QP:' Sl T
m EREREH L ——— ~f -
C'-D" QH Flow Adj.Screw "OFF" | l-ik%] |
5 i o | |
= | T
< BT A q o | il N
@ QL Flow Adj.Screw LT o iJ
S P— S Dr
= 3T
aﬁfﬁ?ﬁ“ﬁﬁ@ﬁﬁ:ﬁ: Solenoid Cut-off Control 2 - Pressure
- SHRE CZENEHES MR - 5 2 - Flow Type
ERBH ERNEBRARENES B/ RENRL « The pump can be switched to high flow
Description =il rate with low pressure type (QH,P1) and
- —ERTHmERA)AEER - Ok low flow rate with high pressure type

EEgman  RiaER)\NENE (QL,P2) by using the solenoid valve.




&) EIimiErRHIR

Pressure Compensating Type

. . Drive speed
L o
Volume e e L Max. setting Mass
kg

|Jﬂ
MODEL 28 | 9/ rev 1000 | 1200 | 1500 | 1800 | pressure Max
min" | min® [ min? | min” '

P08-A*-F-R-01 8.0 12.0 14.4 300 2000
P16-A*-F-R-01 16.5 16.5 19.8 24.7 29.7 300 2000
P22-A*-F-R-01 22.0 22.0 26.4 33.0 39.6 255 bar 300 2000 13
P36-A*-F-R-01 36.0 36.0 43.2 54.0 64.8 300 2000 24
P46-A*-F-R-01 46.0 46.0 55.2 69.0 82.8 300 2000 24
P70-A*-F-R-01 70.0 70.0 84.0 1050 126.0 286 bar 300 1800 43
co P100-A*-F-R-01 100.0 100.0 120.0 150.0 180.0 300 1800 62
E P66 [ A3 | F | R [ (5 |
P series piston A*: Standard Type . . .
E S (cmB 70 e ra%%e Monuting Rotation Shaft Options
% P08 (8.0) K: Straight Key
P16 (16.5) AO: 15~45 bar F: Flange R: CW %Code Omited)
?ﬁ P22 (22.0) A1:20~75 bar Mounting (standard) AE Spline
A - A2:25~150 bar L: Foot L: CCW P08-SAE-9T
7 P36 (36.0) A3: 30~255 bar Mounting (option) E; ggﬁgg
§U aclol oAt P36-SAE-13T
P70 (70.0 A2: 25~150 bar . P46-SAE-13T
o A3:30~255bar T Flange D - P70-SAE-14T
P100 (100.0) A4: 30~286 bar 9 P100-SAE-17T
\
=
Q P08 -A -TYPE
(]
o 214 (MAX)
7 Flow Adi. Screw tees A 49 | man DA T
o IR Q 6 = ENRERH il
= \ | m 25| 5 P —
L) @1 Key4.76 881 .
c @ - ol ~ — N «
= LN e . ;[L &
© = J 3 P
w || J % /@ N
(¢») Outlet S -
- MO 1 ged Outlet Inlet
i PTije" g o IEEO) 110 BAD
m = ~N PT1/2" 130 PT1/2"
Q
245 (MAX)
Drain Port Pressure Adj. Screw Fill Port
Flow Adj. Screw B0 w 49 BREER 4 EHO
MERTE IR 0 PT3/8" 23| 6
254 | 5
Key4.76 *43
p 9 3 / N
% N2

=
W

Outlet 106.4 Inlet
]| 124 RAC

SAEJ518b-3/4" 130 SAEJ518b-1"

4-M10X16

219.05-8.021
21.2-825




P36 /P46 -A - TYPE

310 (MAX)
93 60
A Pressure Adj. Screw Fill Port
Flow Drain Port 6 = R
Adi. Screw 3 ] B7RESRMH 45 HEO
TR \ \ a
38 | 4
Key 6.35 *§:81
i 3
BN\ IEE
oo B o
o
P T
2 omax | | -J I} Chi©
— 15 o3| o8
26.2 — o] =3
4-M10X16 190 E 8 Outlet 144 Inlet
o0 q ntHEO 146 BAL
SAEJ518b-1" 170 SAEJ518b-1 1/4"
Remote Pljes=srbl'1_r._le Adj. Screw
Pressure Control Port EE/JE27EWR#  Fill Port Drain Port
Flow Adi. Screw Eﬂ;l%}j a a 20 57
AR RE IR r— PT3/4"
\@ [T 5 .5 @
I | Key7.94 38 AOOQ, @ . @ ~
° o —1l % 5® | ogl g f
= e
o o L e N .
~ gl =D ] iy N «
B Al T ——e3 | o k
&, S ® ©
RS @
OMAX B I E
I og|os Outlet DSP@ ® | Inlet
0.2 \&M10X16 17 | || 8 NE: MO \ 128 | ®AO
223 85 ol 8 SAEJ518b-1 1/4" 172 SAEJ518b-1 1/2"
296 (MAX) S
306 (MAX)
Pressure Adj. Screw
Remote iy .
Pressure Control Port  2/JBX SR D rain e
E Fill Port RO 57
. 75180 SHm0 S
Flow Adj. Screw PT1/4" = PT3/4
B E B o1
z} S s
60 6 A
<, 1S3
F ) J 7@ Key 9.53 8] Loy ] N - 8
—] Wre | edig¥
. SO
- @ @ ¢
© o 8 \ ©
= XD 1 i ™
. ]
Q
of P % - ® S|\ | 8
3 OMAX b Ia
) 357\ am2x@0 Qﬁ § o Sl S X Inlet
: = 25 8 = IO \ 161.6 \ RAO
8§ SAEJ518b-1 1/2" 200 SAEJ518b-2"
347 (MAX) 90 sl ¥

R0 A

>
=z

n
5
Q
o
v
7]
—e
®)
=
v
c
3
o
»

S9llo




R0 A

>
=7

%
S
Q
®
v
7
[
o
=
=
c
3
T
(7))

S9lJo

O

OMAX

RS

RimEIE5

Remote Pressure Control Type

_

P Series Piston

Pump (cm® / rev) Pressure Range Monuting Rotation Shaft Options
P08 (8.0)
P16 (16.0) K: Straight Key
(Code Omited)
B3: F: Flange S: SAE Spline
P22 (22.0)  Pressure is controlled Mounting R: CW P08-SAE-9T
by the remote control L: Foot (standard) P16-SAE-9T
valve Mounting P22-SAE-9T
P36 (36.0) P36-SAE-13T
P46-SAE-13T
P46 (46.0)
214 (MAX)
Remote Pressure
Control Port IELS (it
B751E0 935 49 Differential Pressure
PT1/4" 18 [ERERE IR
Flow Adj. Screw G (B%%5FE) (Non-Adjustable) a7 Fill Port
BB E Rt 800 Drain Port s m|
PT3/8"
\:} %_/( 254| 5
Key4.76 T3
n—H o)
NS gl © B
D = ' 71 8 g
& o
omax| | ° N
Outlet . 2 1F 5 .
It S| o8 Outlet 111 106.4 R Inlet
PT1/2" " 8 « PT1/2" : PT1/2"
1275 2 & 10
Q 130

149.5




P16-B-TYPE /P22 -B -TYPE

245 (MAX)
105 49 [BR 2 55 R IR it
= &[] : BX&ASRES) Pressure
; - EEREEs O
%o%%ggrt ) ?TI:{EE (B2EE) (Nonl-édjllstalla_;kalmu
it 28 B U it 0 e 254 | 5 FiIIEEPort
; ‘ ‘ _ EHE0 S
Flow Adi. Screw fb c i =51
mams | | e % Key4.76'3] @/Z £
| 0= =
Tt D o
. ' 7P - =
(et L ot
= I R 24 =
L \D0 % : o R
©
§ i A
S Sl 5 7IN
202 125 o8| & 06.4
), oMM sa 8 « 124 \M §U
181 S| N| SAEdhitRR-3/4" 130 SARI5 8b-1"
S ] ‘ kAL
\
=
Q
®
9
n
~r
(@)
=
P36 -B -TYPE /P46 -B - TYPE v
3
317 (MAX) ©
ﬂmPon 88 60 E:ﬁ;ﬁ_ﬁ@%ﬁessure %
Remote Pressure B E R -
— EREIBGRT] . (RRZAHHEE) (Non-Adjillthble) ®
K BEms | E/I5180 | |/ SEA0 Fill Port 0
HERER | L sl | R (B
\EE— — Key6.35'481  _
o B [ 2 <
%{ D &) 3 ﬂ Q
§ER Ml v
N = - 8 i
< $ 900 ° 8
AN ér B,
OMAX 15 &l
202 il Dt BAD
190 _
4-M10X16 - I T SAEJ518b-1 1/4"
N ‘




R0 A

] N
=7

%
S
Q
®
v
7
[
o
=
v
c
3
T
(7))

soli9

OMAX

RimEIE5

O

SRS RS

Remote Pressure Control Type &
Manual Pressure Type

_

P series piston
pump (cm®/ rev)

P08 (8.0)
P16 (16.0)
BH1: 20~75 bar
P22 (22.0) BH2: 25~150 bar
BH3: 30~255 bar
P36 (36.0)
P46 (46.0)

Manual Pressure range

P08 - BH - TYPE

186

Monuting

F: Flange
Mounting

L: Foot
Mounting

Remote Pressure
Manual Control Port

pressure Adj. Screw 5
SEISEERREIR A /’%

Flow Adj. Screw
AR E IR

4o

[11]

32 4

+0.01
Key 4.76 -0.01

% 51
OHT —

0

AN

82. 55-0.05

DJ =
N\

126

149.5

0

19.05-0.021
0
21.2-0.25

Rotation

R: CW
(standard)

Shaft Options

K: Straight Key
(Code Omited)

S: SAE Spline
P0O8-SAE-9T
P16-SAE-9T
P22-SAE-9T
P36-SAE-13T
P46-SAE-13T

Differential Pressure

[ERE=ETE IR

(BREERR)
(Non-Adjustable)

!

171

11

5EHO Fill Port
-
g (T

[

7

78

4

N4
—fA
49

Outlet
Infu ] M}
PT 1/2"

106. 4

Inlet
s\ 8%
PT 1/2"




P16 -BH - TYPE / P22 - BH - TYPE

Differential Pressure

- £ = [ERZE RS TE IR R
Manual emote Pressure :
758 (BREEERE)

pressure Adj. Screw EH3EO

%ﬁ@ﬂ%ﬁ@ﬁﬁ /W (Non-AdjustabIe)

MO Fill Port

Flow @ 6 {g /
Adj. Screw | 32 4
MEERE IR Hh ”5 1 0.01
HE \%_’ H Key 4.76*-0.01 g }i
° al &) el = &
& & f — / 8 o = f N E
@ I = - og M N D fa
5 & - & T O/ y =3
olef & | | : i A\ = #
. omax H —— N6 =
. o N
29 2 \4-M10X16 o 13 oSlonl  outi ﬂinl, 106 4 \ BAD ntet ;_
- S = SAEJ518b-3/4" 126 SAEJ518b-1" 7 ]
g 3|

P36 -BH - TYPE / P46 - BH - TYPE

Differential Pressure

N
5
Q
o
v
7]
—e
o
=
v
c
3
T
(7]
@
:.
®
7]

Manual 24 Remote Pressure ot Eiﬂﬁﬁﬁ%
pressure Adj. Screw ‘%’%’%‘l%r&l (ERZ2E§8%8) (Non-Adjustable)
ERRBIREEM® S pra SEMO Fill Port
TH- 6 /
Ad). J @ _@_ 38_| 4
Adj. Screw
LI v001 €
BT g Key 6.35-0.01 o
: g - @ e .
L = =
oo 0 / 5 | /f ”\
D : 2
| ©
: \\ ouF — S @E G
w0 1 ~
& D N B 7 &/ % "
\ 0 9
26 .2 \a - m1oxis 15 cg °§ Outlet Inlet
192 wl°2 O 146 BAL
222 ol @ SAEJ5I8b-1' 170 SAEJ518b-1 1/4'
N




¢ SRS
Solenoid Cut-off Control Type

I T I I

P series piston Pressure range 3 i i
pump (cm® / rev) (SOL"ON") Monuting Rotation Shaft Options
P (EH0) K: Straight Key
P16 (16.0) D1: 20~75 bar F: Flange (Code Omited)
P22 (22.0) D2: 25~150 bar | . pounting St SAE Spline
oo P36 (36.0) D3: 30~225 bar Mounting R: CW P16-SAE-OT
[==] (standard) P22-SAE-9T
E P46 (46.0) P36-SAE-13T
Y- P46-SAE-13T
Al o mmw o,
3£ P100 (100.0)  D4: 30~286 bar Mounting P100-SAE-17T
£
T
R P08 -D - TYPE
3
F;]go Control Pe -
emote regsur ontrol Port E Differential
50
(¢)] Pressure E:B [ prua _—Ij_ !%%%Z‘%E?%
— Adj .=§crew Wﬁﬁ]g‘)
= Eﬁﬁinﬁﬁzﬁﬁ A - Bg;arin 6 Q} (Non-lit;ljustable)
Q e 0 S Fill Port
PT3/8"
o Flow Adj. S \ e 8 @
ow . 9crew ©
E TR ﬁ @f: Key4.76 -0.01 - @ 3
@ O I -
(@) ~ 1 5 =
T 2k ©
- SZMli g :
c pouax | | B ==
= 126 1 g Outlet L1 T et
g [Raeem| 5 BAL
O g N PT /2" PT1/2"
w
(1]
:I
D
@ P16 -D -TYPE /P22 -D - TYPE
199.8 r 2
. Remote Pressur Control Port
T [ i 380 rew
PT1/4" Diff tial
:L“:sgurre o S8 Drain Port S Pressure.
fase Ak =i n PT3/8" o | EERTEEH
ot n® D mame)
Flow Adj. Screw ; 77| 49 N (!‘lﬁgéd&gﬁ?b&e) -
MEERE IR ; %;‘/ 474 | 6 5, £ ill Port =
”_“ Ak ‘ 254| 5 ldV=
i Key4.76*83] 8 ~
T | ] - 3 8
i3 & @ —
o) S
. 51D e, | J g = 8
& [ OMAX T .
4-M10X16 22 153 128 og QE %:ﬂt::elitl \ ﬂ)!'in;\eltil
181 2 & SAEJ518b-3/4" | 130 SAEJ518b-1"




P36 -D -TYPE /P46 -D - TYPE

317 (MAX) 45
Remote P Control Port -
‘ em e‘ l'eSSul',EOjSéolgt)DD'a-“ .
" 1l
Pressure i ‘ [ t AL ET’?/E Differential
Adj. Screw soLb | < > : Pres;#[le
B EIRH ) 60 () | EERER
(SOL'ON" i) El 6 (B2RE)
Flow Adj. Screw N (Non-Adjustable)
i i i 0
B TEIR 4 . . D FEHEO Fill Port §
0 i -
L e J7d
[ 9 a0 Key6.35 *881 N2 L);
% ; il ° @ / CRER
g e — H N\
[y 1775 )
N '+ 2 - N
. >ﬁ, 9N, [ J E ® T 8
g - @ @ o0
o I Outlet - Inlet [==]
4M10X16, e It 144 BALI N
190 q ° SAEJ518b-1" i 'SAEJ518b-11/4"
& -
7/
T
P70 -D - TYPE 2R
130 §U
57 Pressure Adj. Screw
Fill Port i [EE7JEZ RE Rk
31 [k S0 s Sranport AN SOLON' B)
Flow < > Tsolb P34 1 m
Adj. Screw . C) hded
iy B ic} | Y = 5 - Ue =
§ % «Q
P —L Key7.94 58] o5 / /%/ —
9, N ©
e e T H o [5© | odl & o
ﬁm | . N @ o
~D 1 ?:’ }\ & a_
N | 5 &
& 930 ® =,
o D R @ ) (o)
8 OMAX | - I T Dﬁﬁ@ ® \ =
4-M10X16 <5 =% Outlet
30.2 17 ‘ 8 e 8 itz ]| ‘ 128 ‘ \l]&7\|:| Inlet U
223 85 g © SAEJ518b-1 1/4" 172 SAEJ518b-1 172" c
261 3
306 o

®
:I
®
2]

P100-D - TYPE

Pressure Adj. Screw
Fill Port ;s Drain Port —

57 =
r—' B E R
7# ‘ [ ﬁ’ 5E;ED PT3/4" JT:I (SOL"ON" %)
Flow T Bl 91 W]
Adj. Screw - 1 =
FERERM 1O W @ -
60 6
T+ e‘ —@ Keyo.53°38] 5"%9@7,'—( & o
n 7 Songs - © @ gl
0 L \ ! &
° © \ X ®| .
4l D 7 ] % ™ 2
H I % \\
S
o DO N — @ 0 g
3 OMAX Q§
a7 \ ( _ Outlet @ @ ‘
L\l ] |l s £ Mo | | | 181 | A Inlet
257 3 = SAEJ518b1 172" 200 SAEJ518b-2"
302 al ¥
347 (MAX) %




6 EHMERE IR HIA

Solenoid Two Pressure Control Type

IR T I T T

P series piston Pressure range 3 i i
S (SOL"ON")g Monuting Rotation Shaft Options
FUS(E) K: Straight Key
P16 (16.0) E1: 20~75 bar F: Flange (Code Omited)
P22 (22.0) E2 25~145bar | Mounting S e
P36 (36.0) E3: 30~215 bar Mounting  R: CW P16-SAE-OT
oo (standard) P22-SAE-9T
P46 (46.0) P36-SAE-13T
P46-SAE-13T
P70 (70.0) E2: 25~145 bar F: Flange P70-SAE-14T
E3: 30~215 bar Mounting P100-SAE-17T

P100 (100.0)

R0 A

P08 -E - TYPE

3

SAEJ518b-1"

198.5 49
Pressure Adj. Screw : Differential
Z:ﬁsgl;:eew Eﬂgjﬁﬁﬁfﬁﬁ Pressure
o EORERH | | (soLoN) iz
= DR = B 6 {B (Non-Adjustable)
g SEBOFill Port
o Flow Adj. Screw 32 4 0
1 TRREER ® i e R
m )
= o 3 ©
2 =
g D _\out - E= )
ky H 8
o . % A
c \omax, | O S g
11 S| o Outlet 106.4
126 =<5 u 110
geo) o N PT172 PT172
(1)
:I
(1]
o P16 -E-TYPE /P22 -E - TYPE
245 (MAX) 42
TTH ow o)
::;sgl‘l:::w il L Dr;?ﬂlgn i JT Differential
i soL o e Pressure Adj. Screw Pressure
[EYAE el ] Ef - PTS/8" | mnaaiess C) [ (Non-Adjustable)
(SOL"OFF") — F‘_/ (SOL"ON") B ER E IR
\Fa @3 CE) -
- H % J . b
Flovyl_\gj;h&:rew 0 = i 77 49 SEBOFill Port &
MER IR 1 M% 7 25-4 . '\ . )
Key4.76 *3] S ~
0 $‘$ " i 3 8
o 1 g
~N | T 7%
n
2 —
L’S 1%4 | J % = o
< Outlet
222 125 o3| & \
4M10X16 158 ~ 5 ] W} IRAL Inlet
&

SAEJ518b-3/4"

219.05 5021




P36 -E -TYPE /P46 -E - TYPE

45
317 (MAX) [__A
Pressure j 1 ’ = ;Jr;ain port C\
- = Differential
Aq;.gg.ew %f MBI > P Pressure Pressure
[BETDEE SRt [BJERE IR Adj. Screw () [ (Non-Adjustable)
(SOL"OFF") \F’: ® (SOL"ON") BRI
AL o) CET)
S dixSciew H 88 60 N SBEOFill Port 9
MBI | E - d
@ ;ﬁx"*sg 3 (Z'(
" M Key6.35 *381 [
. h F ® 3
2 o o f -‘ . 8 /
C1%S RE ())&
\ $ | = ™ & '/J oo
< Y % ° l 8 8
b : L5 . Outlet @ S E
AOXIG 26.2 o0 f = O ::‘é ’RAO Inlef
25 8l & SAEJ518b1" 140 SAEJ518b-1 1/ *}
o
Q
7/
P70 -E -TYPE 7.
VAAY
130 §u
Pressure
Adj. Screw A g . Max Pressure Adj. Screw
Bt | | | BB EAR 4 Prossure Adi. Screw T BB
(SOL'ONY)  4'< P sdl SEMO Fill Port -~ w
Flow = 84 M Drain Port i —r
Adj. Screw — EE A E =)
R B o s o [W]D Q
o —
T Key7.94 *3§ ok 4 ‘D
Q ) Sl i (‘Oe,e/ @ @“X 8 v
¢ o . N @ —
145 FTS ML 3
\_$ % 930 1S @& © o
B omAx | | 3 & Outlet Y0 o =
4-M10X16 o9 9 utle
30.2 7 |1l e © 8 [l ]| 128 | A Inlet U
261223 85 % & SAEJ518b-1 1/4" 172 SAEJ518b-1 1/2" :
296 (MAX) 3
316 (MAX) 'c
®
:l
P100 - E - TYPE &
- - m
Pressure = Max Pressure
Adj. Screw [EE7JE8 E %+ Pressure Adj. Screw adiy SCTE:IH
BREEM 1 ‘ [ ﬁ (SOL'OFF") 5| BEEIRTIRM
(SOL"ON") T = yEAO Fig!|1 Port N
= S5O | Drain Port W
f\lo.w PT3/4" J%E{F
dj. Screw o g @\ 6}
TR E R o . . NZj —_—
@ K +0.01 o oy ¥
S ey9.53 1331 Oeé’g 7 8
— oy @ @ g
K -
8 X @ ©
g D =
Q
B2 e @ : 8
° __ OMAX [ ( - Outlet Z&@ ® ‘
= 4'M122X20 EL—-JJ | 8 [lits ]} \ 161.6 | \ﬂ&?\l:l Inlet
=t 3 5 SAEJ518b-1 172" 200 SAEJ518b-2"
302 3
347 (MAX) %0




R0 A

>
=7

%
S
Q
®
v
7
[
o
=
=
c
3
T
(7))

soli9

& EfIEERTIA
Load Sensing Control Type

I T N T T

P series piston

pump (cm® / rev) Pressure range Monuting Rotation Shaft Options
P18 (0] K: Straight Key
P16 (16.0) HL1: 20~75 b F: Flange (Code Omited)
: 20~ ar X ) .
P22 (22.0) HL2: 25~145bar | . ';"(;’(;Jt”t'”g S: SAE Spline
P36 (36.0) hiES=30=2115 bar Mountng ~ R: CW P16-SAE-OT
(standard) P22-SAE-9T
P46 (46.0) P36-SAE-13T
HL2: 25~145 bar P46-SAE-13T
Prowroo) HL3:30~215bar 1 1ange P70-SAE-14T
P100 (100.0) HL4: 30~286 bar Mounting P100-SAE-17T
Differential
Pressure
P 186 49 o
AL?_s;l;:zw Eemtot?;n:.‘tssur I(.:oa(:  Port %ﬁiﬁjﬂzgﬁ
Ean—} ontrol Pol ontrol Pol 3=l
BORES# | gnsis0  eemEEsD (Non-Adjustable)
PT1/4" \ [ PT1/4" 6 SEHCFill Port
Flow
Adj. Screw ¥ é = i E
B ER E W 1 +0.01 L
Key 4.7 6-0 .01
o T ]] i / o = - ’cx\)
/f\ out — oS ! {} |
\\J u 8
o o
Co) <t
L OMAX = Mﬁ
1 ST
126 oo| oo Outlet 106 .4
149 5 g S Ditt'.l:l :1112% WAD Inlet
- o N PT1/2" PT1/2"
gemtotula FF,’rt:tssur
on fO‘ Ol 2 MAX
7@7}&%[] Load a ) iff q
o e ® © _ Prossuro.
Al PT1/a" 2 | EERERM
A Serow [ 7] mmmm(Non-Adiustable)
TR % G % s Fill Port
/] ax. RITR T L
f\ldoj‘fchrew - E 7 %/fa e 5 @,,
A ’ Key4.76 *38! 8
3 - g T 5
[ [y | T 2 K@\ H# "
e || J 3 \&J 1 's
5 = g
222 125 °%|oS Outlet 106.4
4-M10X16 153 8l MO / 124 | R Inlet
181 S SAEJ518b-3/4" 130 SAEJ518b-1"




P36 -HL - TYPE /P46 - HL - TYPE

Differential
Pressure Pressure
> 238 60 snee
’Iidjjj. Screm;l% Remote Pressur  Load (%fsgg)m(iﬁ Adjustable)
B IR Control Port Control Port £ GILECILISIANE
F*?JEIﬁD BRI SEHOFill Port

TPT1A "\ [ PTHa"

+0.01 o

Flow — é 5
Adj. Screw
BRI N iy M |
\}, Key 6.35-0.01 &

=)

630

_——x]
65

()K @
o 4 &
e
J

[T |
AN

&)

76@\\
kﬁﬂj B
&) &)

26.2 \4-M10X16 15
192

222

0

22.225- 0.021

Outlet [1H [ 146 IRAL Inlet
SAEJ518b - 1" 170 SAEJ518 b-1 1/4 "

0
25.1-0.25

R0 A

P70 - HL - TYPE

Remote Pressur Control Port BRI Load Control Port

5

Flow %WED Tg‘ressure Adj. Screw o
ENREGRH
Adj; Screw S i *- SO Drain Port
RERERH \[ & el Fil e %)
‘ [T 50 5 %@ [ :
%7 0.01 AOO 6} < 0 Q
5 Key7.94 1881 %, 2 —
o g T 5@ | ol s ®
Lo o a . N 9| U
~D IRy N g 3
NPT | S K .
S| s ® . o
AT TN omax | | lheoTeah =
i 4M10X16 = 8 Outlet -
30.2 17 e 8 lits ]| 128 ‘ \ IRAL Inlet )
2225 85 a8 SAEJ5180-1 1/4" o SAEJ518b-1 1/2" c
258 ©
296 (MAX) 3
306 (MAX) _c
9°)
:l
P100 - HL - TYPE ®
(7]
gfens‘g:ﬁ' Control Port B RXEEHI Load Control Port
; PT1/4" P Adj. S
2l D EnREs -
Flow SEHO ﬁﬁl:l Drain Port
Adj. Screw ﬂ} Fill Port / o
B E IR >

195

60 6
7 ) 7@ Key9.53 381 % é
LU L & @

XD

()
)
il
&k
)
@4
161.6 A

(5]
|
)
-
€

=}
=}

69.9

OMAX [ ’—
35.7 4-M12X20 25
257

302
347 (MAX) 90

Outlet LZ% @ @ Inlet
iqae]m] 616 | BADO

SAEJ518b-11/2" SAEJ518b-2"

038.1-5.001
42.1 805




$) HiBMEBMIEHIEY

2 - Pressure 2 - Flow Control Type

I I R N N N

P series piston PL Pressure PH pressure ; ; i

ST (AT T range r%nge Monuting  Rotation Shaft Options
70 P16 (16.0) K: Straight Ke
BR A6~ F: Flange : >y
& P22(220) 015745 bar a2 25-150bar  Mounting N
!‘;‘@ P36(36.0) (o 25120 har A3:30~255bar L:Foot _ 16 SAR-OT
i P46 (46.0) AISHIE (sFt:'n%XYd) P22-SAE-9T

’ P36-SAE-13T

E P70 (70.0 : A2: 25~150 bar P46-SAE-13T
% (70.0) C1:20~75 bar o o) oee par '|\=/I|angg P70-SAE-14T
= P100(100.0) ~ ©2:25~150bar 4" 36980 bar ounting P100-SAE-17T
2
T

1 >
=7

P16 -C-A-TYPE/P22-C-A-TYPE

PH Pressure Adj. Screw

311(MAX) PH SE/J5E IR
262 49 PL EE7)8 R
QH Flow A PL Pressure
Adj. Screw B Drain Port 7 6 42 Adj. Screw
QH KiitERE R PT3/8" 7O Fill Port
,%E, V4|
A\
4/\_}» 254 | 5
7 &
=] Key4.76 *§1 8
2 s9 1] | D il ik
] 3 - )
QL Flow Q || _ i:z L | 2
Adj. Screw 1 I o
QL /) REBEREEH o L > f} %, — ® B
© i
< Y -
222 I - Outlet 106.4 Inlet
4-M10X16 o3 8 o Rqe]m] 124 BAL
181 2 & SAEJ518b-3/4" 130 SAEJ518b-1"

P36-C-A-TYPE/P46-C -A-TYPE

N
|
o
q
®
"
7]
=
q
®
N
|
L
o)
g
9
®
[ =g
®)
=
v
c
3
T
(7))

2 370 (MAX) PH Pressure Adj. Screw
6' PH SB7I5% 1%
I Sl i a5 PL (SR /ISR

QH Flow . Y 93 6 PL Pressure

Adj. Screw RIEC ’?;'EE /" Adj. Screw
QH K722 E IR . SEEO Fill Port

\F 38_| 4
- Key6.35 381 Q e
0 8 o
g Nl Hj] ‘ / v \ 2
N — ‘

A

208

17
173

+0
-6 -005

\

/
m

QL R : ohe, i o
QL Flow o **{o.“x _ \ /
Adj. Screw _,3} [ 8 @ ﬁ
26.2 — o

222.23 3021

Outlet 144 Inlet
] 146 . BAO
222 SAEJ518b-1" 172 SAEJ518b-1 1/4"

4-M10X16




P70-C-A-TYPE

Fill Port ;M0 %M Drain Port
[PT 314"

A ] n N
N

Differential N @;
Pressure ® |
BT —

éﬁf\ﬁ%;ustable) E © © OMAX #“ PL KB /IR EIFH PL Pressure Adj. Screw

PH Pressure Adj. Screw

o
B
y
i
x
=
=

PH SB /I3 E R
417 85
QH Flow
Adj. Screw 8 | @
QH RABEERH @ " S
50 5 N
T L +0.01 (9"’@
= Key 7..94-0.01 T S 5 3 o
/ ¢ = 7IN
QL Flow Adj. Screw o © / 9 @f @ | | & §IJ
QL /)R IR D = ﬁj/ 5
EA5I80 KPR ) S? )J E '.Q
PT1/4" N = : C
Remote Pressur 302 N\ _OMAX S § Outlet ® © | )
Control Port 4 - M10X16 17 Ogou-, O 128 \ IRAL Inlet —
223 N2 SAETSTabA 14 172 ISAEJ518b-1 1/2" D
ol ® (7))
(7))
c
q
D
N
[}
P100-C-A-TYPE L
g
Fill Port ;35800 %M Drain Port
[ [pT3/4" E
= 3
— o
=y = B || = >
Differential @ — c
Pressure /{ * @' EE% 3
‘;Eniﬁ_fgﬁﬁ Jé@ ® \ 1 ©
REHE .
(Non-Adjustable) 1© © OMAX\ i Pr Eprsure S, Screw o
PH Pressure Adj. Screw D
PH SEE /IR E R -
458 90 o)
QH Flow 8
Adj. Screw T e -8 @
QH Kt @ E IR E g} @
5 64 _| 5 F N2
N 3
i ‘ J m | Key 9.53 -8.'8} Er—[ ﬁX‘—\Q@
H 0 o B 1K @ 3
QL Flow Adj. Screw S
QL /)BT ° © g @ f & @
D fam > 3 G g
E7580 R = -
PT1/4" ! e @ @ 8
Remote Pressur g \ -
Control Port OMAX @ @ D

35.7 \ .
4 - M12X18

&
Outlet Inlet
IO I8 \BADO

SAEJ518b-1 1/2" 202 SAEJ518b-2"

257

0
38.1-0.021
42. 3-%.25




¢ MmEm=EEIEB N R
2-Pressure 2-Flow Remote Control
PH Pressure Type

I I I A N TN

P series piston PH pressure

I_;‘@ pump (cm’ / rev) PL Pressure range range Monuting Rotation Shaft Options
E P16 (16.0) .
K: Straight Key
. (Code Omited)
:ﬁﬁ P22 (22.0)  CO0:15~45 bar B3: F: I'\:A'gﬂgt‘fn Roow S SAE Spline
/ﬁ C1:20~75 bar Remote Control L: Foot g (sta-n dard) P16-SAE-9T
E P36 (36.0) C2: 25~150 bar  Setting Pressure " Mountin P22-SAE-9T
9 P36-SAE-13T
% P4 (46.0) P46-SAE-13T
£ |
T
7N
31
N P16-C-B-TYPE/P22-C-B-TYPE
1
v e
B E IR
8 Remote Pressurqsr?t?'ol Port Drain Port = (Eﬁ%ﬂ:]ﬁ)(Non-Adjustable)
73 ow EXSEO . PL R
: . Screw PT 3/8" PL Pressure Adj. Screw
— QH Kt ERELRH 6 MO Fill Port
(9] 32 | 4 @
N : i Key AT = /, \\
1 — @ 0 H T @ @ 5
m SIKRER: DK I AL
o N | o z
7z =ne DD 4 — & 0|
3 S omax ] T outiet D@/@ﬂ
U Adj. Screw 222 4-"’”°X15153 18 .3 oo nen | 106.4 \ IRAL Inlet
‘7,. 8 SAEJ518b-1 3/4 " 126 SAEJ518b-1"
% 2
o
=)
v
c
_g P36-C-B-TYPE/P46-C -B -TYPE
m Differential
‘D Pressure
- 310 60 [BR 2255 R
¢_D. Remote Pressur Cpntrol Port Drain Port (B&%:55%) (Non-Adjustable)
o | el Tl PL ERBERH
Adj. Screw PT1/2 PL Pressure Adj. Screw
QH =7 BB IR . gg S5O Fill Port
/
L 38_| 4
R A
B Key 6.35-0.01 g @ @
o0 | o /% N\Qﬁ i
au EnmEms 3| () = = }%J (e -
g\ T g (Y
Q [ >
aren, lieTe : 7 N7 g :
OMAX 1 S @\ @
15 ol &
26.2 \4-M10x16 . OEO‘? E)IL{I:::;E 146 \ BAL Inlet
222 Sl 5 SAEJ518D-1" 170 SAEJ518b-1 1/4 "




OMA X

¢ MEMREENDN SRS BRE
2-Pressure 2-Flow Remote Control
PH Pressure Type & Manual Pressure Type

I T N N S T

P series piston Manual pressure

pump (cm3 / rev) range Monuting Rotation Shaft Options

PL Pressure range

P36 -C-BH-TYPE/P46 -C -BH - TYPE

P16 (16.0 (=
( ) K: Straight Key Iﬂ_i_(
. (Code Omited)
P22(22.0)  CO0:15~45 bar  BH1:20~75 bar '-Flange S: SAE Spline F@
Mounting R: CW P s
C1:20~75 bar BH2: 25~150 bar L Fonr (sta;ndard) P16-SAE-9T )
P36 (36.0 C2: 25~150 bar BH3: 30~255 bar ’ g P22-SAE-9T
(36.0) bAleTni i, P36-SAE-13T
P46-SAE-13T g
P46 (46.0) ?
7 7
T
7N
3
P16 -C-BH-TYPE/P22-C-BH -TYPE N
1
Differential 3
Pressure
Manual 250 Remote Pressur 42 BERTEIRH ‘D
Pressurel}dj. Screw éojr;tgl)gart 7(‘5&%@%) (Non-Adjustable) m
BRI il 1/4Dhrai5'| Port| PL {KER/]E8 E I m
an Fiow S g.@ =y | e =
Adj. Screw pE il Pol —
QH A B RS 32| 4 i D
i FJ:M Key4.76t8:31 & /, N
IFE 0 =<8\ s ;
S[ \\\ = = > ﬂﬁ . L
QL/J\sgagg@ﬁ,ﬁ IS - & E&J ﬂ\s g
L Flow OMAX || - sl @
Adj. Screw 222 dmods A R / 106.4 | BAD Intet
= g SAEJ518b-13/4" 126 SAEJ518-1 " U
2
@)
=
v
3
©
Differential g’
Pressure
— = BERTERH
m%;i:glre Ad]. Screw ReMGE Pressur Control Port (Rt Non-Adjustable) =
EEBIRERN s sESMO Fill Port 8

Flow TH 6

Adj. Screw
TR g S| 001 %
Key636-001 ‘
{ ° B — @ L1 @
o\ 3
: N o = :

O Neg

2|

112

C/f &
[TITT
101.60.05
— -
&
N
_—\]

omMAX a1

&
26 .2 \4 - M10X16 102 15 og o§ Outlet »
s <=1 = BAD Inlet
o S| & sAEssTEb-T! 170 ST
N




6 A7 H B R R N 5 B
2-Pressure 2-Flow Solenoid Cut-off
Control PH Pressure Type

I T N N I T

P series piston PL Pressure SOL"ON"

Bhmelom rey) range pressure range Monuting Rotation Shaft Options
P16 (16.0) K: Straight Key
e F: Flange ’ ;
P22 (22.0) 8(1) ;g:;’g 22: D2: 25~150 bar Mounting s: (Sc:g%mged)
P36 (36.0) C2- 25~150 bar D3: 30~255 bar L: E/IOO’[ . I P16-SAE-9T
P46 (46.0) oINS sandard) P22-SAE-9T
P36-SAE-13T
P70 (70.0)  4:20~75 bar Bg gg:;gg E:; F: Flange o
P100 (100.0) ©2%257190bar by 30 ogopar  MOUNtING P100-SAE-17T

P16 -C-D-TYPE/P22-C-D-TYPE

250 49
EEH%QE@%?& Remote Pressur Control Port
BI51E0
PH'Pressure [PTiAT Differential Pressure
Adj. Screw e =
(SOL"ON") [BEEREIRM
3 J@ (BE=T=) (Non-Adjustable)
/ PL £ E# PL Pressure
. T Adj. Screw
QH Kift2 |QH Flow , . e ;
sk |Adj. Screw é -6 SEHO Fill Port
32_| 4
> +
i i e
U =51 ] o U O
o © — 0 &l = f/\ S
E <D — o9 N yanY a N
1\ = 8 4 &j N
au)vEEsEEEs (919 % — g b
aL Fllow ) \Amx ™ N Wl D@Eﬂ
i - N
AdiiScien 222 Minde 2 oZlog| Outlet 1] / 1064 \ IRAD Inet
wl o SAEJ518b-1 3/4" SAEJ518b 1"
o N

P36-C-D-TYPE/P46-C -D - TYPE

0
E
2
i
=
-3
xR
A
Bl
N
O
®
()]
(7))
c
@
N
n
(o]
2
L
2
o]
=
-
c
=
o
()
@
e
(/4]

310 60
Remote Emssu; Control Port
PH 5[#7]) PH Pressure /% Differential Pressure
ERTEIR R dj. Screw [EREERLTE SR A
SOL"ON") . J O |/ mzmm) Mon-adustable
PL KB /Js2EW%#t PL Pressure
. — Adj. Screw
QH Xt | QH Flow SE Fill Port
BEHH | Adj. Screw LG
38 | 4 -
+0.01 g
Key 6.35-0.01
e H &} ®
Ll g
i ML
0| ~
QL /VRERERH S C) os KC)\ }
QL Flow © E &J e
Adj. Screw < f? S 9
Tomax| | 3 : e
26.2 \4-M1ox1e 115 08 ﬁ
192 52| Outlet It 146 IRAL Inlet
222 g e SAEJ518b-1" 170 SAEJ518b-11/4"
o




P70-C-D-TYPE

Fill Port;E;M] ;%M Drain Port
PT3/4"

T T

I
— e
;JF &7

[

N
N

Differential @
i TN n |
[R5 TE IR A s

(AT i be-_pL EmIREE
(Non-Adjustable) & 05“ PL Pressure Adj. Screw

PH SE /IR E R
PH Pressure Adj. Screw

[
]

180

417 85

QH Flow |QH Kifi® .
Adj. Screw| XERH ] {B @ |
ﬁ 50 5

o
,E§Z§
m
b
x
=
s

B
] @E] (D\
+0.01 00
ﬂ’— Key 7.94-0.01 7 < <
1 - — S— & el dg
QL R ER Vo o | i ®, / @ 4 I\
g&jFls(::v:ew N [ Dg /f; - §J
. N I N y
Ensisn/ NP1 ] ] @ )/@ 8 N
PT 1/4" o T a
enomprnr | | N I .
A 2 17 2~ 128 ®AL Inlet
223 E E SAEJ518b 1 1/4" 172 SAEJ518b 1 1/2" 'U
q
D
n
(7))
c
q
D
N
P100-C -D -TYPE '
M
o
Fill Port 35H [ #5M [ Drain Port E
PT3/4" v
=y o
— e~k
e B | g S)
7V Y U ‘ | =)
Differential @ U
Pressure ° g — c
B2 E IR = — T 3
(@) 'E =
- OMAX PL {EER/IEREIFHH
(Nomadit=tabls) ©@ @@ PL Pressure Adj. Screw geo)
® @ PH SE /52 EIR (7))
PH Pressure Adj. Screw D
180
458 % =
D
QHFlow | QHEE 8 (7
Adj. Screw| RELRHH 3 @
e w 3] .
64 5 3
. Y
] | Key 9.53-3.'811 Z A ‘200
° 0’ ﬁ@ @ g
QL (KA 2R E IR | 1 | o
QL Flow o © g @ @] |8
Adi. Screw () o o OS / §
N
E5e0 ,‘ E -
PTiA o UNT R @ @ | 8
o  —
Bomewpmrsr® [ omax A % o5 &
357 C 8 & & U
\4-M12x18 25 o5l ©F %{I;;:eljt o1 T
257 o o - \ Inlet
8 S saie i 202 SAEJ518b -2'




&) R 7 b B R ER R R B
2-Pressure 2-Flow Solenoid Control
PH Two Pressure Type

I T - N S N

P series piston PL Pressure SOL"OFF"

pump (cm”® / rev) range pressure range Monuting Rotation Shaft Options
P16 (16.0) K: Straight Key
. F: Flange ’ ;
P22 (22.0)  C0:15~45 bar Mouﬁting (Code Omited)
P36 (36.0) C1:20~75 bar L: Foot S: SAE Spline
' C2:25-150bar py: 25~145bar  Mounting ~ R: CW gl
P46 (46.0) P2: 25~215 bar (standard) g
P70 (70.0) R~ , P46-SAE-13T
C1: 20~75 Dar F: II\z/llang(? P70-SAE-14T
P100(100.0) ©2% 25~150 bar A P100-SAE-17T

P16 -C-E-TYPE/P22-C-E-TYPE

P1[E7] 250 49
) P2E7E
P1 ’Eﬁﬁ‘ssm Differential Pressure
Pressure @g{-soﬁf-?" [BEERTEIRH
gglj-:ciic)ew 5 @, (B2259%%) (Non-Adjustable)
PL {EEHREIRL: PL Pressure
QH A7 |QH Flow ad Adj. Screw
wEws  |Adi Screw 16 MO Fill Port
@ 32 4
g 0.01
. i3] Key 4.76t0.01 Y
o ° 0| @ B
Lesi[ IR AN
QL /)R B TE R D& Ny 8 D ﬂ b
e I S
Adj. Screw o o8
222 SIS og|og| Outletltth/ 106.4 \IBAD Inlet
153 B o SAEJ518b -3/4 126 SAEJ5185 1"
180 ol N

P36-C-E-TYPE/P46 -C -E - TYPE

0
E
2
i
=
-3
xR
A
Bl
N
U
®
()]
(7))
c
@
N
n
(o]
2
L
2
o]
=
-
c
=
o
()
o
=
(/4]

310 60
P1 &N P2 B/
sy ERTERH Differential Pressure
P1 Pressure :fii?se:;‘;vre w
Adj. Screw (ESC @ (BR&39%2) (Non-Adjustable)
(SOL"OFF") A B
PL KB JREIFHh PL Pressure
. . dj. Screw
QH Fift & QH Flow T ;EHO Fill Port
saEigss | Adj. Screw @ |l_6
=4 38_| 4 IN
| I h Key 6 35001 i
) .30-0.
r = ® 8| .
| L (=]
o Vo o ﬁ - kel ﬁ N o
aL g\fmiaﬂzﬁﬁm { () 8 KO\ =
L Flow R |
Adj. Screw “ ol § 1 7 &J i 8
\\mx 3 15 & w @*4@
26.2 4-M10X16 | =
°2l°S| OutletltH/ 146 RAL Inlet
222 § 9 SAEJ518b -1 " 170 SAEJ518b -1 1/4 "
o
ol




P70-C-E-TYPE

Fill Port ;35800

L

%O Drain Port
PT3/4"

2

=R,

X

[ ]
[

NZ

=

Differential @
Pressure > g ‘ - ﬂﬂ
[ERZER IR ==L
() E &ﬂ\pl. EEIREERR [EX
; ) OMAX KRR /D58 R IR
(o) ) ©@ ©© PL Pressure Adj. Screw i
o o PH BRI I‘,—@
PH Pressure Adj. Screw 180 ~
P1 Flow 41z 82 ;
Adj. Screw :1,_1;73 P2 [E7]
(SOL"OFF") | B REURfh B *E
F‘ P2 Flow Q}
@pE Adj. Screw 8 ! ﬁ
QHFlow |QH Xt (e @ @ =
Adj. Screw | B3 TEIRH . 50_[ 5 K ?
+0. »
l o | Key 7.94-{){8;l 4 < ’T_
o &) ) R 7IN
L ] o @ 1| @ @ §J
aLyREREEs ] | = 177 8 I
QLFlI ] g
SaSew A o7, A\
[{o
TN omax L@ ®L i N
AR S8 Outlet \ 1
02 g 17 °57F IO 128 IBAL Inlet
223 g Q2 SAEJ518b -1 1/4" 172 SAEJ518b -1 1/2° -U
& @ 3
n
(7))
c
q
D
N
P100-C-E -TYPE '
M
Fill Port 3501 S8 Drain Port s
/7 PT3/4"
— N .
/ n
e = =
vl [ 1 ] (o)
N D ZY ‘ | S
Differential ® —
Pressure © g h U -U
SRS & L c
==M§n £ Eal—t
e JE@ o _OMAX o Emmees 3
® © PL Pressure Adj. Screw
o BAEIRERS ©
Max Pressure Adj. Screw 180
R 458 90 m
essure
Adj. rS(:r |'\;v |;1,_lj27j P2 &/ ®
(soi-oFfr) BELR# BT =
P2 Flow ([0>)
QH AR s e e G} 7
™ o6l
QH Flow Adj. Screw o,
64 &) S
°© +0.01 oé{'l’
i _| Key 9.35-0.01 =
5 < (e Lo .
— N
[~ | ©
aupmEsEs d/o o = ® f NERE
Adj. Screw o) b\ ouT ° g f ©
3 L o i@/
9 ? @ @ ‘8_
357 \ | | o 9 & @ @ Dh
\M Clod Outlet
25 s I 161.6
ol 3 9 {1 fu ] W] - IRAL Inlet
257 o 9 SAEJ518b11/2" 202 SAEJ5180 2"




& SRR
Solenoid Cut-off Control 2-Pressure 2-Flow Type

I T T N N T

P series piston SOL"OFF" SOL"ON"

pump (cm’ / rev) Ppressure range pressure range Monuting Rotation Shaft Options
P16 (16.0) = Hae K: Straight Key
P22 (22.0) | Mounting . (Code Omited)
P36 (36.0) L: Foot S |§1AEESSAF|;I£$
) H1: 25~145 bar Mounting R: CW
P46 (46.0) ~ CL1:20775 bar o 55 515 par (standard) PPN
CL2: 25~145 bar P36-SAE-13T
P70 (70.0) , P46-SAE-13T
F: Il\:/llangt? P70-SAE-14T
P100 (100.0) G P100-SAE-17T

P16 -CL-H-TYPE/P22-CL-H-TYPE

P1ES] 250 49
B E IR P2 —%pﬁ
KL_?rsecsrzt‘:vre nipi PI";‘SSure Diﬁe;ep}ial Pressure
Q“(sﬁ%;p) 3 GO @ %Adjustable)
R B
i ey & @/ SEMO Fill Port
32| 4 i @ /
©
N
&

&

ﬁ @g::g Key 4.76T8:81
| s I
% ool |l . _ =
«,[ﬁ N E

>
: @SVNE
- = =5 o 7]
aL/vAEEREEsS 51O = % D K% €
QL Flow o i |
Adj. Screw 019 = @ ot

7
N

OMAX

| —
4-M10X16 S|
22.2 e i og o9 OutletltHM 106.4 \ IRAO Inlet
e g o SAEJ518b-3/4" 126 SAEJ518b 1 "
C" N

P36 -CL-H-TYPE/P46 -CL -H - TYPE

0
E
2
i
=
-3
xR
A
Bl
N
U
®
()]
(7))
c
@
N
n
(o]
2
L
2
o]
=
-
c
=
o
()
o
=
(/4]

310 60
P1EN - !PZ |-i9a]
B IR MR Differential Pressure
P2 P e
Z:iiPrSe:rzl\:lre Adj'-vrsecsr?‘::e Eff,;giwﬁm' tabl
(SOL"OFF") B g 3 (SORON) {B» (B&#%) (Non-Adjustable)
Saan @ FEHO Fill Port
i 6 :
lj. Screw = 38 4 o
,,,,,,, &5 o gy oo 3 @ /Vq\
I I Key 6.35-0.01
B [ @ L—1 @
ﬁ 3
$ $ || " 52 ﬁ ‘\\ ~ ":
e < LN ] = /f_ Q a N
EAERESRG o [ = S \& q
=

Y/

QL Flow — /

Adj. Screw & | O 7 % @

(ome | | B B ®
26.2 4-M10X16 15 S \
192 Og ©  OutletMth[] 146 IRAL Inlet
N SAEJE18E 1" T
222 8 g SAEJ518b 1 170 SAEJ518b -1 1/4

N




P70-CL-H-TYPE

Fill Port 5E5H[ 5%5M Drain Port

PT3/4"
A < %‘ \ ﬂ# I
N T & OO ==
Differential ®
Pressure “ N Eg\m‘ = I_ilﬁ
R E IR s o1
Ll 8 A DR JBR
_Adi @ B B AE BRI
(Non-Adjustable) & Max Pressure Adj. Screw I_iﬁ
417 85 N
P1 &N
e L :35;1* 11 4
1 Pressure ;12 Flo"v:‘ *I
( CILJ"'OFSF‘":)rew B p B j 1o Adj. Screw 8 @
o3 o
Qt{Fiow Ad 50 | N
ow Adj. Screw 5 ?
H Key 7.94001 ‘200«) 77‘
NG e RGO 97, <
7 s S aambk Bl
I o o e @% & @ §U
L REEERH | D - (7 S
QL Flow o N N y
Adj. Screw 5 Ea - @ @ o
N omMAX L& @f‘( N
N § & Outlet
30.2 4:M10X16 17 = e || 128 | BAD Inlet
223 9 9 SAEBTEb-T1/4° iz SAEJ518b -1 1/2"
- o
[s2]

P100 -CL -H - TYPE

Fill port  Drain
PT3/4"
|

Fill Port }I/EHD AL Drain Port

T ay

— I /

H NN~ N —
@
Differential Yy —
pressure 5 ® .
(Non-adjustable)

Differential ® ® Max Pressure
Pressure oma screw
[BRERTELRH

N
|
o
q
®
"
"
=
q
®
N
|
L
o)
g
9
”
—e
®)
=
v
=
3
T
»

(RREEERE) 458
Non-Adjutabie)e - BRABIGRER
adj.screw o Max Pressure [Adj. Screw
(SOL'OFF") goll___
3 (SOL"ON") @
'q-gﬂ W 8
P2 [&7]
H— BR TR IR
Adj. Screw P2 Flow 64 -5 B &'):b
(SOL"OFF") Adj. Screw m +0.01 <
(SOL"ON" <

B pB
R
H A ﬁiii-l _| Key 9.53-0.01 ~Q\r’ |
BRREWRHR O O @
SH Flow Adj. Serew— - @ @
/ |

S9lIo

P1 Pressure

161

N
QL Flow ¢ © § @ f NI i
adj.screw oS o
(SOL'ON") o C) — ° E /J =
oL B REE 9 i /@/ @/ | &

@
L Flow ) A
Q \ g

Adj. Screw ¢
. l SIG & @ D
\ 4-M12Xx18 oo‘-og Outlet 161.6 Inlet
257 o o SAEJ%/Z” 202 SAEJE&'Z"
OMAX ® )
Outlet Inlet

Il | RAL




S RO A O

i
=7

O
o
c
g
®
9
o
[
o
S
v
c
3
o
w
@
:l
®
7

BT A Y DOUBLE PUMPS SERIES

e = 2 18 3R 7 B 2\ AR AR

Shaft End Pump Model

PP36-A3-F-R-2A
30405 6

ST TSR EEERE
Variable Volume Piston Pump-Double Pump
REENE IR AHIERI EEE (23HARER)
Geometric Displacement Shaft End Pump
(Ref Model Number)
1ZHITDEET5 TV53& #F Control Options
A: BHEEHIR
Pressure Compensating Type
B : B/J5IEEEE
Remote Pressure Control Type
D : EMKERHEHE
Solenoid Cut-off Control Type
E : SW_EREEIEHIE
Two Pressure Cut-off Control Type
HL : B faRX B H A
Load Sensing Control Type
A EJ:8%2 & & Pressure Adjusting Range
1: 20~73 kg/lcm?
2 : 30~150 kg/cm?
3 : 30~255 kg/cm®
Z % T53\ Mounting

FERERN L : BAIEESY
Flange Mounting Foot Mounting
A ;@& 7535 Rotation
R : IBF;E751E L : BE5E75E

Clockwise (Viewed From Shadt End)

EEhEm N BT Thru-Drive
2A : SAE A @ 82.55 2B : SAEB @ 101.6
(PP70+ P36/46, PP100+ P36/46)

BTV IEHE Model Number

BERIRBEINRSE
Cover End Pump Model

P16 -A3-S

OSFEHERE (XS0FH)

Variable Volume Piston Pump (Cover End)

BREBARHERTLEEE (23HARER)
Geometric Displacement Cover End Pump
(Ref Model Number)

1ZHITD8ET5 TV53&F Control Options
A : BHEREHIE
Pressure Compensating Type
B : B/J5IEEZE
Remote Pressure Control Type
D : EMKEREIHE
Solenoid Cut-off Control Type
E : S _EREDITHE
Two Pressure Cut-off Control Type
HL : B e R H B
Load Sensing Control Type

A E)iA%&EE Pressure Adjusting Range
1: 20~75 kglcm?

2 : 30~150 kg/cm?
3 : 30~255 kg/lcm?

BERRHHVEI Type of Shaft

S : SAE A Tt g8 K: 5 EEH
SAE A Spline Cylindric, key
(PP70+ P36/46, PP100+ PP36/46)

Shaft End Pump

?éﬁﬁuﬁiﬁﬁﬁébﬁmﬁuﬁiﬁ PP16 PP22 PP36 PP46 PP70 PP100
g P08 o o o0 0| @
@ P16 O @ ® o ®
g P22 NI
O P36 (] o
_§ P46 () o




PP16/22-A*-F-R-2A+P08-A*-S
Flow 419
Adj. Screw
iR EREgs  Flow Adj. Screw 49 BRERM -2~ SHE0 Fill Port
EXEWRH | Pressure Adj. Screw R E Wit 6 Pressure Adj. Screw
L 25 5
ae Key 4.76 83!
: T o 1@ 9l 3 o
i q}\ - 2 i / \ ® o
A HE) = = ::#,_V fzj\ T
SOl S A I <52 £
OMAX 13 g 9 Outlet N2 J
[0 Outlet 22,2\ 4-M10X16 il x| 106.4 RAL Inlet
PT1/2" < e (= SAEJ518b-3/4" 126 SAEJ518b-1"
333 -

S R0 A e R

PP16/22-A*-F-R-2A+P16/22-A*-S

5

Flow

Adj. Screw 451
ne 42 O
B2 TEIR BT R MEERTEIRHR 49 B TRk SEMO Fill Port o
Pressure Adj. Screw Flow Adj. Screw 6 Pressure Adj. Screw -
25| 5
R ~a8 Key 4.76 138 (=3
TS 0 g 0T 1. ®
arf2.0) —| rfe2) — | PN e o
D =D = " P I =
Lo} —
R omax| | [1] 121! ] - NN )
13 8 = Outlet K " S
© L1 Sl
22.2 4-M10X16 N 22 o\ 4-M10X16 o3| o5 IO 1102%4 TR AL Inlet
: 8l & SAEJ518b-3/4" SAEJ518b-1" O
153 2] c
359 3
©
(7))
D
:I
(1]
(7))
* %*
PP36/46 -A*-F-R-2A+P16/22-A*-S
Flow
Adj. Screw 508
D EBORERN  REEEEM 60 B/JSERS 4 SHE0 Fill Port
— | Pressure Adj. Screw Flow Adj. Screw 6 ” Pressure Adj. Screw
Key 6.35 *881
[ NE
q} $ $ o§ S R
i/i N = @
= AMIOX16 N x1é} 115 B8 Outlet @ﬁ
= & 26.0 \_4-M10 = 146
192 & & 1| WAL
405 S SAEJ518b-1" 170 SAEJ518b-11/4"




PP70 -A*-F-R-2A+P08-A*-S

. Pressure Adj. Screw
Pressure Adj. Screw FIOW Adj. Screw gzrzneoymesy 3830 Drain Port

BhRTRs ERERH FT 34 % /B0 Fill Port
B B E IR - %) Wasse i
Flow Adj. Screw & 50 5
/ 0.01 Qo) 69 7
Key 7.94 %381 Oe, ~
i WH® | Ol 8 =
& 2
\ Sl <
Zﬂ’ o 8 N a
| | )
(3\)
e|3/ F S\l |8
| £.8  outlet o~ 04 |
PT1/2" i odos utle
tett 30.2 4-M10X16 17 i brivird B UIRAL nlet
> e 8 |Zlg'  saEsstep-1 174 172 SAEJ518-1 1/2"
E 448 85
E 570
=
£
T
7N
* *
5| PP70 -A*-F-R-2A+P16/22-A*-S
Flow Adj. Screw Pressure Adj. Screw
O Pressure Adj. Screw MERERR BT ;%EE Relpliert 57 SEBO Fill Port
) [ERTIEEE R A
o TR TE IR _ 3L
c ® 5 5 . &
E — 3‘ Key 7.94 1381 009,0, S S % S
) FloudAd]: ° ' dk 8 =
U o % o o ., %@ 8
o HN2 LS . © -
= amioxie B § g Outlet s CE |
222 202 AMIOXIS 17 e 128 | BALD Inlet
U 74 223 885 E g SAEJ518b-1 1/4" 172 SAEJ518b1 12"
c
3 602
©
w

o
:I
®
2]

PP70 -A*-F-R-2A+P36/46-A*-K

_ Flow Adj. Screw  Pressure Adj. Sg‘?ﬂ";’] .
Pressure Adj. Screw GEBITEITH BN ERH: =HL] Drain Port SO Fill Port

57
o L g PT 3/4"
TmsEmy /IR 4
: ® 1 ! 50 5 @
Flow Adj i w0 Loy & z
—= ‘ Key 7.94 -0.01 0, o 5
B h " O Y@ | O & *
<« 219 ﬁ ° o8 ﬁ@ @
N ) D & ™
N o R 23, - K
o2, n {i 0 - @ Q
| L —
3 LT bao~oge
4-M10X16 30.2 4-M10X16 odo8
262 17 {1 128 AL Inlet
223 8 N| @ SAEJ518b-1 1/4" 172 SAEJ518b-1 1/2"
513 8 _ 58
652




PP100-A*-F-R-2A+P08-A*-S

57

2A0 EERERH =
EBHRERES l{ﬁiiﬁ%ﬁ% PT 3/4" \
AR ERR g Differential Pressure Sy
B Flow Ad. W0 Drain Pogt BT AL Fil
ure Adj Screw ! ] 7(@ Key 9531341 (Eﬁ%"éﬁ%]ﬁ)L Vg ~ 3
e ® @ - ! ‘%Adj% ) ) dl g ©
cr L
{1/s o g @ X @| <
oo ©
o) N &t D -
; ST RS
=5 © L ) ) @i 8
{inds <]} @ ]
PT1/2' © t —] 3 o D@ R an
35.7 4-M12X18 25 8 5| oo HHEO Toile | mAD
257 % o SAEJ518b1 1/2" ' SAEJ518b-2"
|3 s gt
MO IRAL Inlet >
615.5 ﬁ
7/
7—
7N
* *
PP100-A*-F-R-2A+P16/22-A*-S 5|
=
BIEE TRk ﬁsﬁim_ﬁ'ﬁ‘ Differential Pressure 57 Sy :
Pressure Adl}.iScreﬁ Flow Adj. Screw &[] Drain Port EBERERM iE[ Fill Port
TR T 3! () O
Flow Adj. Screw h (Non-Adjustable) "z, (o)
T =S o 606 2 c
o _[© Key 9.53 *48] eé’e% & 4 B 8 (o}
] P an il ®
{1/ o ] . ) @
or-f& o s o
5 o /AR « D = —
le\/i U I % \ m
AN Q/ ® & & |8 -
S — i1 o
22.24-M10X16 3 - || P Outlet ,z%@ ® a ! S5
35.7 4Mi2xig 25 8 Bl nafu] W 161.6 | IBAO Inlet
257 § o SAEsIEL1 12 200 SAEJ518b-2" U
515 90 c
648 _g

®
:I
®
2]

PP100-A*-F-R-2B+P36/46-A*-K

BERER M SRR

Pressure Adj. Screw - s Differential Pressure 57 _ iy .
R\ Flow Adj. Screw s Drain Port EERTEH SEMO Fill Port
Flow Adj. Screw PT 3/4" (BREBEE)

h (Non-Adjustable) i
& 60__6 A
@ K %eé’ € ¥4 8
) ® — ey 9.53 9‘26’ - 5 =
il ] © OB
s o f /e © | . @® ®| e
NVAN il kit N e
8 9 N N N
ks a/ 2 -
Sl i~ L 8 (&} @[\ e
g s
ApE_|l. \AALNE T — 5| g Outlet Z&@ @ 1
— AR 2 5 B i Lits o] | 161.6 | IRALO Inlet
2ol 8| ol sAEJ518b1 1/2" 200 SAEJ518b-2"
554 90 @




® LEEEE

Cross Section Drawing

P08 - TYPE
Part No Part Name Slze
Gasket
TREREH
Z Ball Bearing e !
EHAREdE
e Ball Bearing LA AL L
SHET
25 Oil Seal TCN 25 4511 1
30 © ﬂiﬁ P11 1
O-ring
31 © ﬂiﬁ P9 1
O-ring
(148 )21

-‘JE*%

Cross Sectlon Drawing
PP70 -A*-F-R-2A+P16/22-A*-S

IO s | wosE e
1 12 "

Part NO. | Part Name ifig*& igﬁ%@ Q"ty

= 1

0 e 2

Gasket
uily B ‘ 5 23 ARIRBHI 63 05 63 06 1
- < \ 5 Ball Bearing
: T SHiRER
—p ‘ ﬁ 24 Ball Bearing TA 1720 TA 2025 1
k‘m SHE

O
1
o
7]
7]
(7
®
2]
=,
o
>
O
1
Y
gl
=
Q@

1 * il Oil Seal TCN 254511 TCN 30 5011 1
,J 4 , =
""" i Og.:iﬁ G58 G70 1
O-ring
u o8
J/J / & 9 iiﬁ P11 P14 1
O-ring
[dd ‘ : é O AUE
(a)21(6)(9)(7)(1013 O-ring P9 P14 1

Part NO Part Name Part NO Part Name Part NO Part Name

1 Body Gasket Snap Ring

2 9t~nsz Case 18 SEE Spring 35 ?l]ia Snap Ring

3 24N Shaft 19  E@E Spring 36 IR Snap Ring

4 il CylinderBarrel 20  E@#t# Control Piston 37 ORUR O-Ring

5 G3)ay Valve Plate 21 8fF  Guide 38 OHEUR O-Ring

6 HE Piston 22 REt Needle 39 O 0-Ring

7 b= Shoe 23 ¥E#E Key 40  EfI8 Pin

8 7BE#AR  Shoe Holder 24 R0 Nut 41 [EIRESE Expander Plug
9 H[ERE Barrel Holder 25 2F Retainer 42 URHhR Machine Screw
10  #E#AMR  Swash Plate 26  EHIFERZ Plug 43 IZHR Machine Screw
11 LEHE#HE Thrust Bush 27  RIKEA Ball Bearing 44  REFARIFEH Flow Adj. Screw
12 JHEEE  Seal Holder 28 #tiKEAA Needle Bearing 45  BERE Spring Holder

- 29 SHET Oilseal -




¢ ZEIEEE
Cross Section Drawing
P16/22/36/46 - TYPE

- anfizsg | P16/22-TYPE | P36/46-TYPE | g o9
Part NO. Q'ty
13 1

BUSRARAR BUSRARAR
Part Name gize
2e

36)(20)(42) (43H31)(40, 1732 50)(33)(51)( 8 22 30)(37)(39) (11+34) (15) (27, @ @ GaSket G130 G155
FEEREHA
23 b2 Bearing 63 09 63 10 1
> 24 Bﬁmm’;‘ RNAG905 TA354830 1
i allsBiarlng
"""""" i 25 O?FESIzaI TCN 456821 TCN507221 1
= O BB
2N\ 29 Orring GY5 G105 1 gu
\ | N (OF::
ﬁf P 30 Orring P14 P14 1 &
OB 31 %_%J:f P14 P16 1 T%
gL x : 39 %_gri!f G50 G50 1
EEEEB@EEE O RUIE
40 . P34 P36 1
O-ring
O BUIR
41 O-ring P9 Pe ! Q
(OF i1} o
48 O-ring G85 G85 1 g
kw2 I =
Q;) nJEﬁﬁ%MEEﬂ 7
Cross Section Drawing -
(=
P16/22/ 36/ 46 - TYPE o
-
24((1) (8) (10(11)(14) (12) (13 (w)
2 (2 o :
1 L 1]
,,,,,,,,,,,,,,,,,,,,,,, :
e =

JInN ! | fomes S\rSE= =
e S et
IR —
(15)(16) (6)(20)19) (18)(17) (23

ik ERAI=E BUSRIRIE HE e 2RI BUSRIRIE gE
Part No. Part Name Size Q"ty Part No. Part Name Size Q"ty
9 1 17 P8 1

= )y
Ot P14 Orrng
g= yy=

10 g%:j; P6 3 18 %_%nig P9 3
A= yy=

11 (())_?:3 P6 1 19 %_ﬁr;nig P5 1
O &R

20 Qg P12 1
|J oo

21 O 2R P10A 1

O-ring




KR ANEISEHR
NOTES ON PUMP INSTALLATION

B REBNENREEHEERESEEER -

B EARERS ISOEEZRER - HEEEE MR 20~400 mm?/s - Mi@EUMEFEN ISO VG32~68 R -

B FERRBHREESEER 5~60°C - HEHREX 0°C UTHISEREMETINE - EiEE « (KBDZE

BEEIHREFAE 5°C AT IETVGESE -

IRAOBNEER AT RS - FELE -0.3kg/cm® BAE  SFERTE 2m/sec ARER o

ﬁ,ﬁimlb\ BEEDENIN Z RIMRERZEREB KR 0.05 mm BEEEERET 1° DR -

FBERA OGN RHBEMBEREE 150 mesh LIT - BIBEERTE 100 ym - AIFERRESI I IR
'IE:@F%E%@ﬂEEzOpm PATZiE5meE (140 kg/cm* LA E S EERR - ZEERETE 10 ymUATREE) ©
ggl_ﬁﬁgﬂﬁﬁg*ﬁ KFEERVEAMBICHE - SERRBSMEE - BRIDTEHE - EIFRE NAS10
B The fluid recommended for use in the pumps should be good quality petroleum

fluid (ISO VG32~68). Viscosity of the fluid is range from 20 to 400 mm?*/sec.

B Hydraulic fluid contamination will shorten life of a pump. Please maintain hydraulic
fluid quality during the operation and keep the degree of contamination within NAS
class10.

B The suction port must be installed at least a 100 pm (150 mesh) reservoir type strainer
and the return line must have a line type strainer of under 10 pm.

B To avoid any deformation and residual stress, employ a flexible coupling whenever
possible. The shafts will accept a maximum misalignment of 0.1 mm (0.004 inch).

The eccentric angle should be within 1. The maximum permissible misangular should be
less than 0.2°.

B The pump suction pressure must keep from -0.3 bar to 0.3 bar and suction port flow
velocity must be less than 2 m/sec. For connecting pipes to the suction port, the diameter
of the pipes must be same or larger than pipe flange.

B The excess loading to the pump may cause irregular noisy when using steel tube to
connect inlet port and outlet port. To avoid excess loading, please use a robbery tube.

B The inlet tube and inlet strainer should be beneath the position of inlet port when installing
the pump higher than the fluid in the tank. The position of inlet strainer and the end of
drainpipe should be isolated to prevent air in fluid.

BHOEETEEE

NOTICES FOR TUBING AT OIL DRAIN PORT

1. RERHOREH L - RBEELUEERESISEIHAE  BHENSEEKEIEMDHE - SRENRIRUERISHIETD
NRERHE - ESFHRERAL -
2. EMOBNESBEIREER 1 kg/em?® » BHEREFAEARRUNRK
1. Table below shows recommended drain piping size.
2. The drain port should be side up.
The drainpipe must connect to oil tank.
The position of drainpipe should be lower than the fluid in the tank and far away from inlet strainer.
3. The backpressure and surge pressure of drain port should be less than 1 bar and 5 bar.

HHOE SRS
RECOMMENDED DRAIN PIPING SIZE

o
0
>
El
0
=3
=1
=iy
o
q
3
)
=
®)
S

y N
2 5 P08 P16, P22 P36, P46 P70 P100
Model

ECE - 18 " i = i Wi
Pie Connection 3/8" ALk 38"k 1/2" Ak 34" B E 34" B E
P Size ! More Than 3/8" More Than 3/8" More Than 1/2" More Than 3/4" More Than 3/4"
[T ={7NFEY @8.5 Mk 8.5 XAt @12 Ak @19 Ut @19 At
Pipe Inner Dia. More Than @8.5 More Than @8.5 More Than @12 More Than @19  More Than @19
ERE 1 KM 1 KA 1KUMW 1KUMW 1KUMW

Pipe Length Less Than 1M Less Than 1M Less Than 1M Less Than 1M  Less Than 1M




HERARELIESER
NOTICES WHEN STARTING PUMP

B EEREEETSE o

B RARERISCERAEHIER - FRETENTMSPREH - EMBUNRS

B RS RARERNNEREEN - SELEENIREREEX - RIS ERAEFRBEILHOR - TEEDE
B iRF MEREHD -

WIS EEFRENHEUBRER - ERINR RN -

B Before starting the pump, you need to fill appropriate hydraulic fluid into the pump body
and check hydraulic fluid for cleanliness. Table below shows hydraulic fluid case capacity.

B The pump rotation should be same direction indicated by arrow.

H Trapped gas in the interior pump and piping will cause irregular noise and vibration.
Please exhaust the gas without any load before starting the pump.

BREHEAS
HYDRAULIC FLUID CASE CAPACITY
i
i) P08 P16,P22 P36, P46 P70 P100
ANE (cm’) 220 300 650 1000 1800

AMOUNT (cm’®)

7] ~ MERVEREN

SETTING THE PRESSURE AND FLOW RATE

B RELRE - REBERRERSKIE - MEBNAKRERR/IVE - IFEMRE - HBFEWT :
B B7RE | BRBIFRMIERI SR RE N LR -
BRERE | AERBRRIERIBRARERED
M The flow rate is set at maximum and the pressure is set atminimum at the factory.
We recommend follow the following procedure to adjust the pressure and the flow rate.
M Pressure adjustment : Turn the adjusting screw clockwise to increase pressure.
B Flow rate adjustment : Turn the adjusting screw clockwise to decrease the flow rate.

FRHEC
Drain Port

uoljew.ouj [esiuydsa]

it B ER IR

/ Flow Adj. Screw

[SYAEEd R

Pressure Adj. Screw

yEHO
Filling Port



¢) DECOMPOSITION CHART
DR

MFDE S

/f//ﬁ//(@
'h—

69

"4

O
o®
(2]
o
3
©
o
&
=
o
-
(@)
=
Q
=

Part NO Part Name Part NO Part Name Part NO Part Name

Body REt Needle e Machine Screw
2 ﬂng Case ¥EE  Key RETHEIRH Flow Adj. Screw
3 Y Shaft 20 EA 1= Nut 37 SEEERE Spring Holder
4 fIge Cylinder Barrel 21 2@ Retainer 38 R Machine Screw
5 53)a) Valve Plate 22  EMIEE  Plug 39 &g Body
6 T Piston 23  RIXERE Ball Bearing 40  iBEpERI Spool
7 bi=t:i(d Shoe 24  §HiKEHE Needle Bearing 41  Z[EE Holder
8  iBH#HR  Shoe Holder 25  HE Oil Seal 42 HE Plunger
9 HE/E  Barrel Holder 26 B Snap Ring 43 EE Spring
10 Bk Swash Plate 27 K Snap Ring 44 EEIFE Retainer
11 LEH#EEME  Thrust Bush 28 IR Snap Ring 45  [BDFHEIFRS% Pressure Adj.Screw
12 JHEIEE  Seal Holder 29 OZRIE  O-Ring 46 128 Nut
13 B Gasket 30 OZEIE O-Ring 47 OBUR O-Ring
14 B Spring 31 OZBIR O-Ring 48 OBIR O-Ring
15  IEE Spring 32 Efuts Pin 49 OZRUE O-Ring
16 FF7iEH  Control Piston 33 Em§ Expander Plug 50  IEHEIZHR Plug

17 i Guide 34 45 Machine Screw = =




MEMO




